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The work done to move a point charge is W = qVe, where  Ve = Vf - Vi
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One More Example on the back with gravity
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‘What work to bring a 2.30 pC charge from 24.0 cm from a
1.50 uC charge to 11.0 cm from a 1.50 pC charge

+1.5 uC +2.3 uC
< 24.0 cm <
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Find initial voltage
Find final voltage
AV = final - initial
AE,=W=AVq
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Charge A is -1.20 pC, charge B is +3.40 uC
@A s What work would it take to move a

o -6.70x10-3C charge from p to q?
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Mass A is 2.30x10'2 kg, mass B is 8.70x10'2 kg
What work would it take to move a 4.50 kg
mass from q to p?

Vp 337 kg
Vq 1598 Jkg

Weq 8047




